UNIFORMLY ACCELERATED MOTION - SOLUTIONS

. guen:
V;= 205 Ve Vi +at
V= 1602 t= Ve-v,
a:=80% a

*':.? = IE;O -120
8o
= §5s
436
2. gen: N
V"—‘-Q:0.0 w = lééé ? Vg =V, +at
az20 T 228 g= LY
- Em ™ *
V=100 = 15073 5.0 -16.Ce
‘t =7- - 2.0
= 4.7 s
+
3. quen: I
V;"“'Z0.0%\ V.(:=V. tat
£-2.0s = 4200+ (-1.8)(3.0)
a=-18%. = -4 $
— 9% % DowN

V=7



T, ) quen: Vo

o= +360 m l Vv v 2

\l"=0 N M \I{-‘Lg ZG\CL
a=+18 s
Ve= 7 \I(:-'— 2ad
- |2(2.8)Geo)
=27 %
b) quen: v;=0
d= +360 m l de gyl + 1ok
\- = .
=0 M A §ot
at+id s p= 2]
t- ? | =
_ [2Geoy
] 18
=21s
5. QWEN: V;=0
t=2.\s ]l OL._: 4_llq_k‘l
V;:O =“iu{1
cx=+°|,8'% _ lz(*ﬁ.g)('Z.nl
A=?



6. 3NEI\I3

V;240. 2 Vit= V2 + 2ad.
V{:‘*BO. % o= \I{:t_u‘-a.
A =200. m Z:_\
o= _(8)" -(40)
2. (200))
=12 5.
] quen: Ve=0©
d=+99.0 m Vvt 2ad
=-q.8%\ O"Vit"'l"“’(
\I.(.: O Vi = 'ZQOl
\l; = 7
= |-2(28)(*230)
WE REJECT THE NEGATIVE =©L|'L\' %\

VALUE. WE ARE ToLD THE BaLL
IS THROWN UPWARDS (+). ) — > 4% " UP

3. 9qwen
V= +14.0% + Vg= V\;\-aJC
VO XY a= ‘;"‘
t: ‘OOS N L‘-Q-\L\. (o)
o= 0.0
= —IO %t



Q. qwen:
£=20s o (B2 ¢
V;=Q = \i‘-t
Vez2 5 .
o =? - 2(20)
=42 d
IO @) qvEN: 5
a=-50% B )/=\I- +at
V=815 Em =+ 248G 2 0=V, +ak
v,,.=? b
t-" __ (+2t.8eT)
(-5.0)
=50s
b)gven o
Q':-SOsa. )ﬁa\’l-l-l CL
i) n “ '
U=eBT5 2 =480T T 0=y 2ad
\(/f:? d:. —__Z_?-
‘ i _ (+2%8eT Y
2(-5.9)

=62 m



. quen: r‘

t.: lOOS Vg-': V-‘ ‘\‘O\t
06‘18%\-. -V'.""V" "'Qt
Vi=-Ve=? -2v,=at
o\t
V==
. (-a8)(109)
2
49 2
D ' N
12, quen: " PL/' vE+zab
Vi= +26 % I O=v,k+Efat’
d=0 O-‘-JC(V'."%.“":)
a=-18%.
£ / \
t=0 V,-.-l-;_o[".:O
Y=-2Y¥%
. 2(36)
(-.8)



3. gWEN: d=vt+iak"

V=425 l - (125) 2.0) +5 (+a8) (2. O)
£=20s Y4 = [0.m

Q=+a|.8ﬂsz

d-?

1% o) GIveN): ©
V,=T.0oxi0" § %{V;" +2ad
A=10.0cm =0.100m O =V *+2ad
\N~=0O = -i
N T .
o= o (5.00x10")

" 2(o.100)
=|25+«10° %

—» | 25%0°%. N THE DIRECTION
OPPosITE OF MOTioN

b‘) JIVEN" o
V,=S.00x10" § = C’“;,_‘)’c
A=10.0cm =0.100m A
o -2
1+ =" t- Y,

2 (0.100)
S.00*0"



—30%. IN THE DIRECTION
OPPOSITE OF MOTION

6. PART | (o= +10.0%Y)

GIEN + o
a= +10.0%: \L‘:=)/;4- ot
'\ng-g S = a't
Vi=O = (+10.0)(2.0)
\I‘F:? =+ 30, %



V:=0
d=)fl-l:+ -%_q{'_l
=% at” .
=1 (+10.0)(3.0)
=+45 m

PART 2 (a=-100%)
3\\IEN3 +

™M THE IN'TIAL VeLocrty
a=-10.05 Y For- THIS PART IS

. =+3D% EQuAL To THE TFiNAL
Vi O VelocTY From THE
Ve= O PREUIOUS PART.
d="

O
o = 2ad
O= vt +Lad
d= - Y&

20
. (430
2(-10.0)

=4+ 4S5 m
T PeeTl

ToTAL DISPACEMENT = +48 + 45~  ParT2

=+Q0m



17. PART 1 (a=+2.0%)

@)
%l\IEN: \I‘P: -|-I-o[t
\I;=Q = at‘
oz +2.0 - (+2.0)(10.0)
t=10.0s =+20 S
VQ':? \".'-‘0
d=? A= yeyak”
: 3ot
2
= $(+2.0)(10.0)
= |.OXIO* m

PART 2 (COnNSTANT VELOCITY)

3|veN: .
M HE INFTIAL VELoaTy
V;= +207% For THIS PART IS
t=100s EQUAL To THE TFiNAL
-? \ElocITY FrRom THE
d= PREUIOUS PART
d
V=T
d=vt
=(+20) (lo o)

= 2.0*101' "M



PART 2 (o=-20%.)

%NEN3

THE INKTIAL VeELoarTy
For. THIS PART IS
EQuaL To THE TFINAL
\VEloc(TY From PART 1.
(Tve caeS sSpPeed DID

NGT CHANGE DURING
PART 2.

o
%: V':L"'ZGO\
O- \I;‘-+2ao(
o= - v
2o .
_ _(+20)
2(-29
=41.0xI10" m

TOTAL DSPLACEMENT
= |OxIO +20xl0"+ (.OMO"

= YO m

1B. QWEN
V= + 30.05%
V= O
d=d

o="




3I\IEI\| O
Vi=* 600 )4"-- \/i" +2Q°k‘
=0 O=V*+ 2ad
a=- “'?To :S:;' d_‘r- - _':
/5('-? 20
To SHOW THWAT THIS = ‘—@i
"ol" 15 DIFFERENT THAN 2(%2)
THE A USED PREVIOUSLY. S Gy
1. QVEN®
Vs 40'S \,,=%
=255 AdsV.t,
d, = ? =(4.0)(25)
=1.OxI0" m
QEN-"
V,=20.0% v, = %’:—
t,=15s od.=v,k,
A= 7 - (20.0)(5S)
=30 xID ™
JWEN"
OL‘-': |.O¥IO*+3.0%I0° = 4+ O |O'm \/.‘.zi-—"
t,=25+15 =40.s =‘%

V=1 - 102



9IVEN e
=3.0% ch= ot
Jt:|=’t::. -1(39) 'L\z
=7
CAR 2
YIVEN: V.i:O
Vi: O O(L y/z{ +zqt
ag_S.O %‘ O{: 24, ":
;:?tfé’-o L(so)(t, -6.0)
2 CAR 2 STARTS 6.0s AFTER CARA.

CAR 2 OVERTAKES CAR 1
WHEN [T REACHES THE
o(.=ol,_ SAME PosITIioN

Leo)t = £ (50)(+.-6 oy
1ok = £(s.0) (£*-12.0t 436)
ISt = 25¢*-30.t, 190

0= l.0t'-30t +90 -
t ! +30. £ | (3a*-4(16)(70)

-Ll 7_0.0)
=338 % 2661 s

Lke:recr AS CAR 2
HASN't EVEN STARIED.



£,=t,-CO
=26.6L-6.0
= 2062 s
—> 2l s



